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g Cmouth Community College ‘ Stem and Leaf Diagrams [
Averages and Range from a Frequency Table -

20 Students scored goals for the school hockey

This stem and leaf diagram shows the times, in seconds, for a group of swimmers to swim 100m.
Find the median and the mode.

Thismeans || s |2

| :
team last month. The table gives information 9 students || 5|2 i j P | Countthenumberof values; 17.
sumof all values about the number of goals they scored. u ]
each scored 5110 2 6 6 6 7 Key The median is the th value.
number of values 4 4 -
3

58 5 55/2 means 55.2 se(ondzz/,/‘
Goals | Numberof | Goals Scored x < 1 goal g __saiames il ot
Scored Students No. of Students 1T g o | Inastem and leaf diagram the data is

o in order. So count up to the 9th value.

( \ : T
) e 1x9=9 Add a ‘totals’ || e medianis the 9th value o :
Middle value when The medianis 57.2 seconds. = Look for repeated values in the rows.
b Jaced 2 3 2x3=6 row to work Themodeis 57 Gsoconds, ————— |5l 002 6 6 6.7
num 6"1‘5 a;ep dce Xo = out the total he mode is 57.6 seconds.
moraer 3 5 3x5=15 number of .
student and | Estimating the mean from a grouped frequency table
4 3 4x3=12 The table represents the scores of 30 students in a maths test:

total goals

MODE

]

e [ oy [ ]

20 Students 42 Goals Scored <« scored | g
MOSZ' COmmOIY % 1-5 | 5 l Add a column to calculate the midpoint
of each class. Use this as an estimate of
Add an extra column to work out the number of goals scored § T e ey
= 16-20 | 10
- S Work out an estimate for the mean
Mean = total number of goals scored divided by B [ e [ —{ aie e,
1-5 5 5 1 m x [, to calculate
Largest value - the number of students 8 [Cew ; an estimate of
11-15 9
smallest value = 42 + 20 = 2.1 goals per student > s > each class
8 Total 30 Total 360
= f mean = ?"‘“: 2 ivide the total of the m x fcolumn e total frequenc
Practice: Mode = most common number of goals scored g Formeermomn= g = 12 | e he walof e oo by e et ey |
. . _ . . = ..
Find the mean, median, mode = 1 (as 9 students scored 1 goal which is £ Thisis only an ESTIMATE for the mean as we are
and range of the following set of more than any other number of goals) T estimating the scores of the students by using the mid-
numbers ©  point

Median =the number in the middle = 2
1328795410 2,4 If | wrote the gogls scored by gach
student as a list it would look like:

Practice Question:

Real Ina survey, 30 small companies were asked how many employees they had. This table

Year 9 — Maths_F / Unit 7 — Averages and Range — HT5

Challenge Question: 1,1,0,1,1,1,1,1,1,22,23,3,3,3,3, 4,44, shows the results.
- - Number of employees | Frequency,f | Midpoint of class, m mxf
9 students scored 3 students scored 1-5 12
?
12 6 15 ) 1 goal each 4 goal each 6-10 7
. The median is the middle number now that they are in order H °
The mean of these 4 cards is 16-20 5
. . T T
10, what is the missing Range of the number of goals scored = 4 -1 =3 oal otal
number? Calculate an estimate for the mean number of employees per company.
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